Beam 40 Average Power = -1.2588 dBi
Max value = 17.3106 dBi Efficiency = 74.8379 %

Beam 40 Average Power = -1.1856 dBi
Max value = 18,1293 dBi Efficiency = 76.1101 %
—

Beam 40 Average Power = -1.4573 dBi

Max value = 17,7892 dBi Efficiency = 71,494 %
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Beam 41 Average Power = -1.3229 dBi Beam 41 Average Power = -1.4254 dBi Beam 41 Average Power = -1.7387 dBi
i Max value = 19.9091 dBi Efficiency = 73.7413 % S Max value = 20.6018 dBi Efficiency = 72.0208 % S Max value = 20.8045 dBi Efficiency = 67.0087 %
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Beam 42 Average Power = -1.3443 dBi
Max value = 20,9513 dBi Efficiency = 73.3786 %

Beam 42 Average Power = -1.3928 dBi
Max value = 21.4756 dBi Efficiency = 72.5632 %
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Beam 42 Average Power = -1.6948 dBi
Max value = 21.6023 dBi Efficiency = 67.6893 %
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i Max value = 22,1412 dBi Efficiency = 72.6347 % T Max value = 22.2156 dBi Efficiency = 73.0201 % S Max value = 22.0344 dBi Efficiency = 68.663 %
> e ——— Ly
150 150 150
20 20
120 120 § 120 4
Ty 16 iy z 16
-] -1 -]
g 2 g
g ¥ o &
43 £ oIl 12 A 3, 80 12
aQ a Q
3 3 3
£ & £
&0 8 &0 60 8
30 30 B 4

BT

— i b

0 e £ 2 ? B g
0 30 60 90 120 150 180 210 240 270 300 3%

phi [degrees]

0 30 60 90 120 150 180 210 240 270 300 3%
phi [degrees)

0 4
0 30 60 90 120 150 180 210 240 270 300 3%
phi [degrees]




Beam 44 Average Power = -1.3295 dBi

Beam 44 Average Power = -1.3078 dBi
Max value = 21.7038 dBi Efficiency = 73.9982 %

Beam 44 Average Power = -1.5175 dBi
Max value = 21,893 dBi Efficiency = 70.5099 %
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Max value = 21,7466 dBi Efficiency = 73.6299 %
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Beam 45 Average Power = -1.3233 dBi Beam 45 Average Power = -1.253 dBi Beam 45 Average Power = -1.4159 dBi
Max value = 20.9726 dBi Efficiency = 73.7339 % S Max value = 21,1329 dBi Efficiency = 74.9374 % Max value = 21.0341 dBi Efficiency = 72.1781 %
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Beam 46 Average Power = -1.4519 dBi

Max value = 14.7982 dBi Efficiency = 71.5826 %
B

Beam 46 Average Power = -1.3546 dBi
Max value = 15.9714 dBi Efficiency = 73.2054 %

Beam 46 Average Power = -1.6452 dBi
lax value = 15,5744 dBi Efficiency = 68.4675 %
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Beam 47 Average Power = -1.3908 dBi Beam 47 Average Power = -1.2031 dBi Beam 47 Average Power = -1.4651 dBi
T Max value = 14.5691 dBi Efficiency = 72.5964 % S Max value = 14.8082 dBi Efficiency = 75.8028 % S Max value = 14.4261 dBi Efficiency = 71.3662 %
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Beam 48 Average Power = -1.4872 dBi
Max value = 16.5716 dBi Efficiency = 71.0041 %

Beam 48 Average Power = -1.1143 dBi
Max value = 17,102 dBi Efficiency = 77.37 %

Beam 48 Average Power = -1.2524 dBi
Max value = 16.8823 dBi Efficiency = 74.9474 %
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Beam 49 Average Power = -1.3794 dBi Beam 49 Average Power = -1.2334 dBi Beam 49 Average Power = -1.5027 dBi
Max value = 13,8783 dBi Efficiency = 72.788 % Max value = 14.0233 dBi Efficiency = 75.2764 % Max value = 14,4587 dBi Efficiency = 70,7508 %
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Beam 50 Average Power = -1.3225 dBi
Max value = 14.7482 dBi Efficiency = 73.7486 %

Beam 50 Average Power = -1.2613 dBi
Max value = 14.4436 dBi Efficiency = 74.7946 %

Beam 50 Average Power = -1.5756 dBi
Max value = 14.0409 dBi Efficiency = 69.5734 %
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Beam 51 Average Power = -1.3719 dBi Beam 51 Average Power = -1.1454 dBi Beam 51 Average Power = -1.3677 dBi
S Max value = 18.0361 dBi Efficiency = 72.9135 % J6 Max value = 18.7135 dBi Efficiency = 76.8179 % S Max value = 18.1812 dBi Efficiency = 72.9843 %
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Beam 52 Average Power = -1.2572 dBi
Max value = 17.0034 dBi Efficiency = 74.8657 %
¥ “——

Beam 52 Average Power = -1.1532 dBi

Max value = 17.0532 dBi Efficiency = 76.6791 %

Beam 52 Average Power = -1.4881 dBi
Max value = 16.5664 dBi Efficiency = 70.9893 %
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Beam 53 Average Power = -1.4162 dBi Beam 53 Average Power = -1.1654 dBi Beam 53 Average Power = -1.3842 dBi
S Max value = 18.0894 dBi Efficiency = 72.1735 % S Max value = 18,5793 dBi Efficiency = 76.4638 % Max value = 18,3464 dBi Efficiency = 72.7084 %
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54

theta [degrees)

Beam 54 Average Power = -1.3782 dBi
Max value = 18.6757 dBi Efficiency = 72.8088 %
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Beam 54 Average Power = -1.2466 dBi
Max value = 17.6661 dBi Efficiency = 75.0485 %
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theta [degrees)

Beam 55 Average Power = -1.3243 dBi
Max value = 20.6118 dBi Efficiency = 73.7172 %
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Beam 55 Average Power = -1.4033 dBi
Max value = 21.27 dBi Efficiency = 72,3883 %
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Beam 55 Average Power = -1.7017 dBi
Max value = 21.4953 dBi Efficiency = 67.5821 %
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180

Beam 56 Average Power = -1.3649 dBi
Max value = 20.6813 dBi Efficiency = 73.0311 %
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Beam 56 Average Power = -1.3296 dBi
Max value = 20.8002 dBi Efficiency = 73.6278 %

Beam 56 Average Power = -1.6599 dBi
Max value = 20.8715 dBi Efficiency = 68.2352 %
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Beam 57 Average Power = -1.3609 dBi Beam 57 Average Power = -1.4047 dBi Beam 57 Average Power = -1.6917 dBi
i Max value = 21.6985 dBi Efficiency = 73.0989 % T Max value = 21,808 dBi Efficiency = 72.3658 % S Max value = 21.4574 dBi Efficiency = 67.7384 %
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Beam 58 Average Power = -1.3243 dBi
Max value = 21.0371 dBi Efficiency = 73.7181 %

Beam 58 Average Power = -1.2672 dBi
Max value = 21,1999 dBi Efficiency = 74.6937 %

Beam 58 Average Power = -1.4581 dBi
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Beam 59 Average Power = -1.4513 dBi Beam 59 Average Power = -1.3197 dBi Beam 59 Average Power = -1.5854 dBi
Max value = 13,9568 dBi Efficiency = 71.5926 % Max value = 14,4995 dBi Efficiency = 73.7955 % Max value = 14,7754 dBi Efficiency = 69.416 %
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theta [degrees)

Beam 60 Average Power =-1.41 dBi
Max value = 14.7567 dBi Efficiency = 72.277 %
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theta [degrees)

Beam 60 Average Power = -1.1834 dBi
Max value = 15.19 dBi Efficiency = 76.1478 %

Beam 60 Average Power = -1.4226 dBi
Max value = 14.6255 dBi Efficiency = 72.0679 %
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Max value = 15,4152 dBi Efficiency = 71.6091 % Max value = 15.7707 dBi Efficiency = 76.01 % Max value = 15.9289 dBi Efficiency = 72,682 %
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Beam 62 Average Power = -1.3163 dBi Beam 62 Average Power = -1.2667 dBi Beam 62 Average Power = -1.6053 dBi
T Max value = 14.7656 dBi Efficiency = 73.8533 % S Max value = 14.667 dBi Efficiency = 74.7019 % S Max value = 13.9996 dBi Efficiency = 69.099 %
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Beam 128 Average Power = -1.4106 dBi Beam 128 Average Power = -1.495 dBi Beam 128 Average Power = -1.5815 dBi
T Max value = 15.2601 dBi Efficiency = 72.2667 % S Max value = 16,1969 dBi Efficiency = 70.8756 % T4 Max value = 16.3732 dBi Efficiency = 69.4783 %
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Beam 129 Average Power = -1.6682 dBi

Beam 129 Average Power = -1.3489 dBi
Max value = 12.6656 dBi Efficiency = 73.3003 %

Beam 129 Average Power = -1.4738 dBi
Max value = 12.481 dBi Efficiency = 71.2234 %
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Beam 131 Average Power = -1.9476 dBi
Max value = 12,1457 dBi Efficiency = 63.8617 %

Beam 131 Average Power = -1.7186 dBi
Max value = 12,1987 dBi Efficiency = 67.3186 %

Beam 131 Average Power = -1.8492 dBi

T4 Max value = 12.6434 dBi Efficiency = 65.:_34_6%
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T Max value = 14.2282 dBi Efficiency = 68.6915 % S Max value = 14.4356 dBi Efficiency = 72.5081 % Max value = 13.5907 dBi Efficiency = 70.2378 %
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Beam 133 Average Power = -1.3857 dBi
Max =16.2732 dBi Efficiency = 72.6823 %

Beam 133 Average Power = -1.303 dBi
Max value = 16.237 dBi Efficiency = 74.0796 %
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Beam 133 Average Power =-1.2542 dBi
Max value = 16.4415 dBi Efficiency = 74.9174 %
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Beam 135 Average Power = -1.2637 dBi

Beam 135 Average Power = -1.3347 dBi
Max value = 17.9909 dBi Efficiency = 73.5403 %

Beam 135 Average Power = -1.3791 dBi
Max value = 17.8489 dBi Efficiency = 72.7924 %
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Beam 136 Average Power = -1.3074 dBi Beam 136 Average Power = -1.4166 dBi Beam 136 Average Power = -1.4939 dBi
Max value = 19.2854 dBi Efficiency = 74.004 % S Max value = 19.2528 dBi Efficiency = 72.1665 % Max value = 18.9426 dBi Efficiency = 70.8938 %
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Beam 137 Average Power =-1.9023 dBi

Beam 137 Average Power = -1.546 dBi
Max value = 17.3121 dBi Efficiency = 70.0492 %

Beam 137 Average Power = -1.6544 dBi
Max value = 16,9976 dBi Efficiency = 68.3225 %
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Beam 139 Average Power = -3.0004 dBi
146 %

Beam 139 Average Power = -2,1108 dBi
Max value = 15.2029 dBi Efficiency = 61
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Beam 139 Average Power = -2.2105 dBi
dBi Efficiency = 60.1105 %
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Beam 141 Average Power = -1.6965 dBi

T Max value = 20.8312 dBi Efficiency = 67.6628 %
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Beam 141 Average Power = -1.7467 dBi
Max value = 21,391 dBi Efficiency = 66.8854 %

Beam 141 Average Power = -1.7583 dBi
Max value = 21,3358 dBi Efficiency = 66,7072 %
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Beam 143 Average Power = -2.7223 dBi
Max value = 17.2735 dBi Efficiency = 53.4279

Beam 143 Average Power = -2.2077 dBi
Max value = 18,5737 dBi Efficiency = 60.1494 %

Beam 143 Average Power = -2.4252 dBi
Max value = 19.2462 dBi Efficiency = 57.2109 %
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Max value = 16.263 dBi Efficiency = 45.7725 % 36 Max value = 16.0938 dBi Efficiency = 53.4204 % id Max value = 15.3594 dBi Efficiency = 51.3613 %
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Beam 145 Average Power = -3.0176 dBi
Max value = 15.2627 dBi Efficiency = 49.9164 %

Beam 145 Average Power = -2.3281 dBi
Max value = 15.8249 dBi Efficiency = 58.504 %

Beam 145 Average Power = -2.4775 dBi
Max value = 16,0122 dBi Efficiency = 56.5266 %
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Beam 147 Average Power = -2.3534 dBi
Max value = 17.3633 dBi Efficiency = 58.1653 %
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Beam 147 Average Power = -1.8086 dBi

o Max value = 17.5527 dBi Efficiency = 65.938

Beam 147 Average Power = -1.9428 dBi
Max value = 17,3992 dBi Efficie
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Beam 149 Average Power = -1.1578 dBi

Beam 149 Average Power = -1.0236 dBi
Max value = 18.4415 dBi Efficiency = 79.0027 %

Beam 149 Average Power = -0.9894 dBi
Max value = 18.6458 dBi Efficiency = 79.6269 %
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